Name:

GCSE (1 —9)

Percentages

Instructions

* Use black ink or ball-point pen.
» Answer all questions.
* Answer the questions in the spaces provided
— there may be more space than you need.
* Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

* The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
* Read each question carefully before you start to answer it.
* Keep an eye on the time.

« Try to answer every question.
* Check your answers if you have time at the end
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1 Work out 10% of £95

- B ™

2 Work out 50% of 1200 grams

/200
2
..................... éoo grams
(Total for question 2 is 1 mark)
3 Work out 1% of 200 litres
2o0©
i
/o O
.......................... thres
(Total for question 3 is 1 mark)
R 0 o (&)
4  Find 21% of £160 ff‘_f_)_ _ ¢ /irv2 T 32 CQ—O /o>
/O '
29 + .6
/¢© = /.6 7, |
Too (%), 2260 .
(Total for question 4 is 2 marks)
5 Find 45% of 820 o |
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(Total for question 5 is 2 marks)
| | 260 - y
6  Find 36%0f2500 . . - o= =025 (57)
2500 = 250 - # .:
o 2500 = 25 (17%)
. 750 (130;0‘) oo
250 x 3 7

7 50 T+ 1254253 (Total for question 6 is 2 marks)
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7  Work out 252% of 120. '

/00;0 = /120

IZOXZ, :2,9&@ (200?0)

, 2irs
3 £ O
26 - 4o (507) o+ 2
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/2 O ;_/.2(/;0)
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/.2 X 2 = a QL ( O) (Total for question 7 is 2 marks)

8 Whichis greater
25% of 90 or 28% of 82

You must show your working. 82 - s. 2

0 — . [ » ' <

‘7{ +5  (So7.) c 2 x 3 = 24 6 (3074)

fre225 (@52)) 32 o542 .
- 00 k= ey (22)

246 — .64 = 2296

A ———

(Total for question 8 is 3 marks)

9 Which is greater
30% of 105 or 32% of 98

You must show your working. 78 - 9.8
To
/o5 _ &
— = /o= 9.9 x3 = 274 (3%
?8 - ©0.9F¢
lo.5x 3 = 31.5 I =)
29 +19¢ = 3/.368

(Total for question 9 is 3 marks)
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10 Richard gets a bonus of 30% of £130
Connor gets a bonus of £40

Work out the difference between the bonus Richard gets and the bonus Connor gets

25% of the people at the cinema are children.
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Work out the total number of people at the cinema.
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u/— Cagl / 3
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12k 37 };éi

o ~-37 = /
eod
(Total for question 10 is 3 mark)
11 There are adults and children in a cinema.
There are 48 adults.

.......................................................

(Total for question 11 is 3 marks)
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12 David is paid £34000 per year. :
He is going to get a 3% increase in the amount of money he is paid.
Work out how much money David will be paid per year after the increase-
OO0 , °
3 = 3¢o ( | /o )
[ o0
340 X 3 = Joz2o
¢4 oo o0
+ | 02 o
3§ o 2 o
£0nn2.2.8. 2.0
(Total for question 12 is 2 marks)
13 Abbie buys a sofa for £540

She pays a deposit of 15% and the rest of the money in monthly paymehts of £17.

How many monthly payments will Abbie need to pay?

5¢o - 0 /o %%5
f 5¢ (/0/) e |

| e 5 lebt b
% -2 7 &9/») QL 7 6} (’“j

s¢+27 = 8/ (15%)

(Total for question 13 is 3 marks)
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14 Dermot bakes 420 cakes.
He bakes only vanilla cakes, banana cakes and lemon cakes.
120 of the cakes are vanilla cakes.
35% of the cakes are banana cakes.

Work out the number of lemon cakes Dermot bakes.

422 = ¢ 2 (102:)
/0

‘f‘/Z-, - 2 (S‘%)

p

¢ k3 = 124 (20%)
l12¢ + 2( = [ +7

.......................................................

(Total for question 14 is 3 marks)

15 Amelia and Sophie did a test.
The total for the test was 75 marks.

Amelia got 56% of the 75 marks.
Sophie got 43 out of 75

Who got the highest mark?
You must show all your working.

<50?0)

72 = 375

= |
375 - 375 (57
/ O

}5 = o6.78% = (/A)
—

(Total for question 15 is 2 marks)
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The normal price of the dress is reduced by 20%
The normal price is £36.80

Work out the sale price of the dress.

16 Zoe wants to buy 6 tins of beans for the cheapest possible price.
Shop A and Shop B both have a special offer.
Shop A Shop B
5% off the normal price of 48p  65p each
(&WA) Buy 2 get 1 free
Which shop should Zoe buy the beans from?
You must show how you get your answer.
5; oy Shep &
£ x ~ |
. ot 7 7[f~a v
Qa ‘ °3»€
bg Py Jor §
_jr(,,é'__ ' X =+2.606

29 8 0.65 e

L2 88

(06 = 28.% ¢ Slxur 3

57, =144 £ ——
< — =t 2.74
2 .88 0.14=¢ ' (Total for question 16 is 3 marks)
17 Gary buys a dress in a sale.

: Fo = _ (07
Eﬁo/ﬂ L3.68 (fo/
/
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T
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(Total for question 17 is 3 marks)
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18

Holly invests £500 for 4 years in a bank account.
The account pays simple interest at a rate of 1.5% per year.

Work out the total amount of interest Holly has got at the end of 4 years.

00 = 5 (i7.)
j © O
s . 25 (o 5%)
Z : \
s+ 2.5 = 7.5 (152
7.5 x4 = 30

19

(Total for question 18 is 3 marks)
Phil invests £800 for 3 years in a bank account.
The account pays simple interest at a rate of 2% per year.

Work out the total amount of interest Phil has got at the end of 3 years.

soo = v (17
j ¢© O < .
g X 2 = /¢ ‘Z/‘)

(Total for question 19 is 2 marks)
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